CEGA Impact Evaluation DeCal Fall ’09

Garret Christensen & Erick Gong

Problem Set 2

Distributed 10/13/09, Due 10/27/09 in class.

You are given a (made-up, unfortunately) data set containing data from a setup similar to that of the Girls Scholarship Program discussed in class. That is, schools were randomly assigned to be treatment (having a competition) or control (no competition.) Then girls who scored in the top 15% received a scholarship award. A few years later we tracked everyone down and asked the girls for the highest grade they had completed. 

Variables in the dataset are named and labeled (Widen the variable window to see the descriptions). Please answer the following questions, and include a print-out of the log file showing your work.

HINTS:

Remember that the help command in STATA is your friend.

Remember to look at the suggested .do file for PS1 to see how a typical .do file is set up.

It might be a good idea to start with these few lines:

cap log close [this closes the log file—“cap” is for capture, which will skip a command if it would cause an error]

log using FILENAME, replace [opens a log file, overwriting any previous with the same name]

use DATAFILE, clear [reads the dataset into memory]

You will likely be using something like the following commands and options:

bysort x: summ x  (the ttest command might be another option to explore here)

reg y x if x==1, robust

graph twoway

1. Show some sort of evidence that randomization worked. 

(Hint: bysort, summ or regress treatment on background characteristics such as parent education)

2. Regress test score on having attended a competition school (that is, treatment). What’s the effect of having attended a scholarship school?

(reg, robust)

3. Regress years of schooling on having attended a competition school. What’s the effect of having attended a scholarship school?

4. Using just the competition school girls, regress years of schooling on test scores. What is the coefficient on test scores? Interpret. Is the relationship likely to be causal?

5. Show whether overall amongst the treated group, winners have the same background characteristics as non-winners.

6. Using just the treated pupils, regress years of schooling on:

a) winning an award 

b) winning an award,  and test scores

c) winning an award, test scores, test scores squared, 

d) winning an award, test scores, test scores squared, test scores cubed

(use gen command to generate polynomials)

Discuss the results. What do you think is the causal effect of winning an award?  Which model do you think is best? Why?

7. If you’re comfortable with STATA, graph test scores vs. winning and test scores vs. highest grade completed.

8. Also optional, in addition to showing whether overall, like you did in #5, winners have the same background characteristics as non-winners, show whether in a certain small bandwidth around the cutoff, they do.

9. How long did this assignment take you?

